Termes Manquants (C)

Remplissez chaque espace ci-dessous avec son terme manquant correpondant.

=+ 14 = 18 4+ 11 = 23 270 + =15
209 ~ = 11  x 11 =154 31 - =15
=15 = 18  — 15 =16  — 18 = 18
417 = 33 =15 = 17 12 =12
- 15 =12 216 + = 12 29 - =16
% 16 = 288 % 17 =255 % 15 =270
26 - =15 16 + = 34 17 x =323
12 + = 26 = 11 = 13 24 — = 11
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Termes Manquants (C) Solutions

Remplissez chaque espace ci-dessous avec son terme manquant correpondant.

252 + 14 = 18 12 + 11 = 23 270 +
=25 =12 =
209 + 19 = 11 14 x 11 = 154 31 -
=19 =14 =
270 + 15 = 18 31 — 15 = 16 36 —
=270 =31 =
16 + 17 = 33 32 - 15 = 17 144 ~+
=16 =32 =
27 — 15 = 12 216 + 18 = 12 29 —
=27 =18 =
18 x 16 = 288 15 x 17 = 255 18 x
=18 =15 =
26 — 11 = 15 16 + 18 = 34 17 x
=11 =18 =
12 + 14 = 26 143 ~ 11 = 13 24 —

= 14 = 143 =
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